
Y5 – Spring – Block 3 – Step 4 – Equivalent fractions and decimals Answers

Question Answer

1

a)

b) 5
10

c) 0.5

d) 1
2 = 5

10 = 50
100 = 0.5 

2

a)

b) 1
4 = 25

100 = 0.25 

3
a) 1

10 = 10
100 = 0.1

b) 1
10 = 20

100 = 0.2

4

a) 0.4
b) 0.8
c) 0.75
d) 0.4
e) 0.5
f) 0.9

5

a)

b) 3
10

4
10

6
10

7
10

9
10

0.2 0.4 0.5 0.7 0.9

2
5

3
5

0.6 0.8



Y5 – Spring – Block 3 – Step 4 – Equivalent fractions and decimals Answers (continued)

Question Answer

6

7

8

a) 2.4
b) 1.3
c) 2.5
d) 3.75

9
six possible numbers:

4 2
10 4 5

10 4 2
5 5 2

10 5 4
10 5 2

5

10 Write 2.50 as 2.5

2
4 1 1

4 1 3
4

0.75 1.5

3 1
5 3 2

5 3 3
5 3 4

5 4 1
5 4 2

5 4 3
5 4 4

5

3.2 3.4 3.6 3.8 4.2 4.4 4.6 4.8
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